20224 12A178 (£) 6EIFR#ASH 1R

%% |1IR 1200m 9— =] 3 AES : 520, 210, 130, 78, 5255 ’
. = " ES 12.8 BRISEARSY 53436 524 5 544 5 435 4 ’ }
10:10 |95 R28% RESH 4 B 741.\ iT 1:11 9 L—R 5y F{EE : MMM 24 MMS 17 _SMM 8 SSM_4 Grant /
g | PHEEY | EEMES T i 35 E AR TE=BMER B BHE (& B) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
7B & E % B F | mEAMitE (B £ro10%| B 4 1200m |MTE=RGKE-#E BF -7 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
fo! 22 | B 2 |snE®/FE|f 4T | s ¥ 1000m [647E=L—RXX—XHI3F - chfE - #%3F HEL, NFEH, S)EL\) Bk 3 Fi(h REGHR 25-b~4f - 3 ~4F - R3IF(5~1) LY 3 FIRM
%% 8| Bow) ME | £ %@ | 12085 | =ik guﬁ;g}gggm L—REYBSFAALL - HBEDELYSFAAL > 0.5 DBERT MIE=1EBRE2EE (EE) 1. 2. 3SEROME
£E/BE BroX | B # [1-1ARM| # BETFR| M2 i700m i 2 E 3R 43ERT 5ERT
SIILIN—RF— #£2 ﬁ)%'gﬂ‘ A Bﬁg0.0,0.I F=0.0.0.1 £2F2t¥]};%27 36 4 5RRA#H8
S KR =A0.0.00 [ F 0000
AAaIIIT L |50 o £40000 | Fm0.0.00 |6  168HI5HEI6A Ko
111 e EDE E | 3R BRAH 1148@ | /N4 0.0.0.0 [ F750.0.0.0 | 460 #] KE®E 54 @@
(F2THANAN) B . 155| BRFY 1148@® | A 0.0.0.0 | F+£0.0.0.0 | 1200m & # 1:14.8 37.2
BABHYIS FOENED [#]] 0001 [ 20001 | £40001 | ® ---- SSH 36.6-36.1 313 (6)
[N 33 0500580 | £32 0.0.0.0 | 28 0000 | ¥ /vbyk v (2.1) %%k
TuF—TAL 2 [ 37 E| - :::: |BRZ0000|F=0000 |2212.04 30 WMM6Fm2 |22.09.11 37 T 58m2 [ 22.07.09 46 1. 3&3
bR YL T BT =A0.0.00 [ F 0000 | KEEF SERBEF #HE
™ e 54.0 .174 £50000 | Fm00.00 [17 188EI6HEI2ZA A4k |7 1188 5% 8A 47 105 4F 4A
2 HA4 D94 X~ Z | ARa— N 0.0.0.0 7%0.0.0.0 | 432 +24 RiEfE 54 @@ | 408 -12 1@kt 54 @B®E | 420 #) 1@kt 54 @@
(F2THANAN) F® 77 FEA0.0.0.0 [ FH£0.00.0 | 1400m A B 1:23.5 36.8 | 1600m A B 1:36.0 34.9 | 1200m A #1:09.4 34.9
#E77-L (T [%]] 0003 [ 0001 |£40000 ]| -@:----- MMM 34.3-35.8 413 (15) | MMM 36.7-34.6 433 (8) | MWM 34.1-34.9 434 (5)
REME () 1105 | 5050220580 | £ 0.0.0.3 | 18 000 0 | ap/nfyb (2. 1) ZkiB | b9-7442 (0.8) Sk | 4387759951 0.4)  kkE
FLI+> 2 [ 37 T |BRF0.0.0.2 [ F=0.0.0.1 [ 221204 26 106082 | 22 1113 33 Mm6WR##4 | 22.10.16 31 1 4fk4 | 22.10.01 29 - 55 m8 | 22.08.07 36 -l 23mimh
SH-=TUotR arnmen 50000 | F 0000 | HKEFI RESF R SRR RESF
4 51.0 .044 240001 | FmE0.0.0.2 |6 133 9% 8A 9 145E10F12A 6 1088 9% 8A k4|7  158EI4E 8A K4t |4 OFE TH 6N 4t
3 FUA—IE—La Y B | tumdkRE | IRR 1151® | /M4 0.0.0.0 | F550.0.0.0 | 404 0 KA4E 51 @@ | 404 +6 hiEsk 54 @@ | 398 +4 ik 54 394 +10 iRk 54 @@ 384 -6 HaFK 52 DD
(Pivotal) FHE 128| [RE 11510 | E40.0.0.0 | F+0.0.0.0 | 1400n & # 1:27.8 40.0 | 1400m ZA £ 1:23.7 36.8 [ 1200m % B 1:15.1 39.1| 1400m & B 1:28.7 41.0 | 1600m ZA B 1:36.1 35.5
YU )4 (B AT [%]] 0007 [%0002 |£40003| -® -@---[MM 35.2-38.5 542 (9) | MMS 34.9-36.3 533 (10) | MMS 35.3-38.3 433 (7) | MMM 35.2-38.6 511 (13) | MMS 36.3-34.8 533 (7)
BEEZ 185 F0%K0Z0E0 [ £ 0.0.0.4 | 918 0002 | Vi h(1.7) k% | A4)-40.7) EEE | /N -H-(1.5)  FEkE | 479-(2.6) HEE | v -9 0.7)  ExE
PERERZ U 2 [ 38 T |BRAO00071 | F=0007 |2212.03 30 Tam6Bks1 |22 11.12 28 WMM3@E3 | 22.10.16 43782 | 22.09.24 44 TN5Hm6
> YSFUTYY A HHEA WA0.000 [F 0000 | KEEF bR BRI FREEF -3
~3 4 54.0 .208 240000 | FmE0.0.00 |5  145810% 6A 8 1688 3F 6A W |7  16EEI2EITA 5 1458 5&14A
4 /3’71‘/7) 7T B | ATRT | IR 11490 | 14 0.0.0.0 | F550.0.0.0 | 450 -2 HEE 54 GO | 452 +2 KK 53 @@ | 450 +8 AKX 52 @@ | 442 ) AKX 52 @O
%) = . 135| BRAG 11496) | HA0.0.0.0 | F+£0.0.0.0 | 1200m 4 # 1:14.9 37.9 [ 1150m # B 1:11.5 38.0 | 1200m A £ 1:09.8 34.7 | 1400m 2B R 1:22.6 35.2
mmu%(%ﬁuf AET) [#]] 0.0.0.4 %0002 |£40002]| -® -®---|SW 36.1-37.3 423 (7) | MMM 31.6-37.9 124 (4) | MHM 33.6-35.1 145 (3) | MMM 34.9-35.3 344 (4)
EXES 12275 | #0%020i80 | £320.00.2 | 1@ 0000 | A7 MM Y(1.5) S5k | Ibh Yha-v(2.0) Sk | 4 uvvh = (1L1) kZEE | #4007 034 (0.5) %ZiE
T4 RI—ILET T2 43ﬁ B A ﬁ;o.o.o.o F=0000 §%¥§WW4
_ “ S ABAXMN RA0000 | F 0000 | =3
Yl 2= 53.0 .132 £40000 | FmM0.0.0.0 | 14 T63EI6HION A4 |4 9% 7% 3K 5
5 /=TG4 —F R R | BERE INA0.0.0.0 | F750.0.0.0 | 454 +8 JNRA 53 @D | 446 #) FIAE 54 QO
(44 Lark— 1) ZH 165 EH0.0.00 | FH£0.000 | 1200m ZA B 1:11.0 35.9 | 1200m A B 1:11.9 35.3
Bk St GTOEAE)  [#]| 0.0.0.2 | 0001 [ £40000 | -----@--|MMS 33.5-35.9 214 (10) | SSM 36.1-34.9 443 (4)
EREE 1105 | #05:03£0380 | £ 0.0.0.2 | 58 00 0 0 | #-#A4v542° (1.6)  JEdksE | B9 =-4(0.9) sk
EDFY EAARY - A rxﬁgooo 0 [F=0.0.00 |22 11.26 32 5B | 22.10.10 44 Tl 4BR 3
N N JIEF RA0.0.0.0 | F 0000 ]
TA)RAQ—=Z 54.0 446 250000 | Fm0.000 |B 168 9% 3A 37 12mIE A 9
6| Al 1oFLRI—LE F | LH#S N 0.0.0.0 | F750.0.0.0 | 446 -10 JIIEF 54 @) 456 #) JIER 54 2O
(IS4 F7VRBA L) F® 220 F40.0.0.0 | F£0.0.0.0 | 1400m ZB B 1:22.1 35.8 | 1400m ZA F1:22.9 36.1
D5 (B EET) [#1] 0011 |Z0001 |£50000]|--® - MMM 34.6-34.8 533 (10) | MMM 34.8-35.5 543 (7)
FERERIER 23275 | 05020580 | £ 0.0.1.1 | ©2:8 00 0 0 | Fu/4vk-3 (1. 1) BEE | 2071 00.7)  KEH
N4 n 42 5)(2 P 3454 454 7&;0.1,0.0 F=10.1.0.0 %é]] 27 48 1 ‘51&#4!
K = LE— = RA0000 | F 0000
AREYTS L 54.0 .117| ff 54-54 | £%0000 | Fm0000 | 2 16813 1A 4
5(7| 0| htrrEn—Fz HE | KEERH | IEH 1129Q) | 1F0.0.0.0 | F0.0.0.0 | 454 ) BULE 54 ©B@
(F2HHANAIN) T 131 A 1129 | A 0.0.0.0 | F£0.00.0 | 1200m & # 1:12.9 35.8
RIS (RSATRT) [%]] 0.1.0.0 [ 0.1.00 [£401.00 ]| @ ---- SSH 36.6-36.1 444 (1)
RIEH 28075 | 0% 12080 | £ 0.0.0.0 | $28 0000 4 /vbyb v(0.2)  Sskxk
v onARE— 52| 47 O:: : |®Z0000|F=0000 22112736 5BR#8 | 22 10.30 47 MM ARR9
LTy kALY S B 474-474 | A 0.0.0.0 | F 0.0.0.0 | KEEF| e
54.0 .110| fr 54-54 £40.000 | FrE0.0.00 | 2 1688 5% 3A 3 1338 6% 5A
5(8|o|€yrz—y 25 | =l INA0.0.0.0 | F7K0.0.0.0 | 474 -4 FH)IIE 54 @] 478 #) HIE 54 @O
(7—=9 74 —2) @ 112 FA0.0.0.0 | F£0.0.00 | 1200m £B B 1:09.3 35.1| 1200m ZA B 1:10.9 34.7
7 037-h OB (%] 0.1.1.0 | % 0.1.0.0 [ £40000 | --@---®-| MMM 34.0-34.8 533 (8) | SSM 35.8-34.9 514 (3)
() 74-bak 39075 0120580 | £ 0.1.1.0 | $28 000 0| ¥7471-1(0.5) #eE | 9 4130.2) BIESE
Y IR DI~ 2|33 T : o |BRZ0.00.2 [ F=0003 221203 28 WMm6BMI | 22.10.15 29 T 4G4 | 22.10.01 25 - 5Fm8 | 22.09.19 30 < 5%mb [22.07.02 21 - 3MEI
FLA Ly RA—S |FEER FA0000 [ F 0001 [ KEEFI SeRBEF S RBEF FLRBEF B 5
54.0 063 £400.0.2 | FmE0.0.0.1 |7 1438 3BE4A 9 1088 1% 9A B®M | 11 1588 8FHIOA 5 10@ 1% 9N BM |11 1158 4% 6A
9 ILHvFaa 2| SEHE | B 1520 | MF0.0.0.1 | F50.0.0.0 | 432 +4 $%FE 54 6| 428 0 FHEH 54 Q@ | 428 +2 #2AK 52 @D 426 -8 AKX 52 434 %) INRX 52 @@
(F5v9Hk—2) = .132| &% 11446 | A 0.0.0.0 | F+0.0.0.0 | 1200m 4 # 1:15.2 38.5 | 1200m % B 1:15.6 38.8 | 1400m & B 1:29.5 39.7 | 1200m 4 #§ 1:14.4 37.4 | 1000m & B 1:06.7 39.5
BEAYY GFOEME) (2] ] 0005 [F 0001 | 250005 | -@------ SMM 36.1-37.3 422 (10) | MMS 35.3-38.3 243 (4) | MWM 35.2-38.6 113 (6) [ MMM 35.0-37.1 153 (3) | SSH 35.7-35.9 121 (11)
i B e ik 5275 05E0£0i80 | £ 0000 [ 1B 0002 | A7 FM A Y(1.8) Sedksk | an/n-h-(2.0) Seiksk | #79-3.4) B | WL b (2.3) sk | WEIEVY (7.0) Sk
EX ST 2 [ 33 B - |[BRH0001 |F=0000 |221204 23 100662 | 22. 11.19 29 -l 6WR75 22 10. 22 47 T AR 6
IV l/'ﬁ EE= HA0.000 [F 0000 ttl:ﬁan;ﬁ 4 ||
= 54.0 .142 £40.0.00 | F90.0.0.1 1358 6% 6A 10 133 9% 8A 8 BPE 2% IN &R
10 RYRTECT—F HE | IEE INA0.0.0.0 [ F750.0.0.0 510 +2 EHEE 54 (D) 508 -4 HMAE 54 Q| 512 ¥) HME 54
(/YTYRB) F® 060 EH0000 | FH£00.00 |1400n & # 1:29.8 42.2 | 1800m ZA £ 1:49.3 35.9 | 1400m A B 1:22.7 35.5
K5 (B HET) [%]] 0.0.0.3 [ %0002 |£40001 | -@-®---® MM 35.2-38.5 531 (12) | MMM 36.2-34.6 542 (12) MMM 35.1-35.0 443 (11)
B 05020580 | £ 0.0.0.2 | S8 000 1| Y vy h3B.7)  Fkk | $5301.4) ZiB #4 -5 (0.8) HkrE
A=——Eax—X 2 21,3% R ﬁg 0.0.20 | ¥=0.00.0 if:sgﬂ;s%ln T 56 | 22, %) 16 47 1 4&&55
= =5 = = NE RS RA0.000 [F 0000 |
SSULNTATS 54.0 144 250000 | FmE0020 | 3 128 1% 1A 37 10m 2 1A MW
T(1) A |z550LozoF Z | mAE 0000 | F7X0000 | 444 -2 #AIL3A 54 G | 446 #) #ALGA 54 @D
(Fo%+4%) =® 112 FEA0.0.0.0 [ F+0.00.0 | 1400m & # 1:26.3 37.3 | 1400m &4 B 1:26.5 38.1
#E77-L(Fa) [%1] 0020 [%£00.1.0 | 240020 | ---®----|MSM 35.6-37.3 444 (3) | MSM 35.0-38.4 354 (4)
(B) 5" Y-v77-4 31075 | 05020580 | £ 0.0.0.0 | 38 000 0 | nva’hy 444 (0.5) %% [ 5 yinn-2 (0.1)  %£%%
N—5—ov7 T2 |42 T |BRZ0001 |F=0000 |2211.12 29 T 0683 | 22.10.22 41 BMABR7H6
#+1 E7I/N FEIL#EL WA 0000 [F 0000 trtﬁiﬁ_%lj HIE
= 54.0 .212 £40.000 | Fm0.0.00 |b 78 1% 3A J/A|9  183E 3B BA W
7012 IFLFI/ N B | xEE A 0.0.0.0 | F70.0.0.0 | 470 0 #5118 54  QQ@ | 470 #) HilLsk 54 DO
(TR T A=H—) F® 135 FA0.0.0.0 | F£0.0.00 | 1800m & B 1:57.4 41.3 | 1400m ZA B 1:22.8 35.3
7 9397-h (OB [%] ] 0.0.0.2 [ 20001 | 240001 |-+ MMS 36.8-39.3 432 (5) | MMM 35.1-35.0 343 (8)
S 527 05020580 | £ 0.0.0.1 | 4@ AUy a(2.3) kk # -0 (0.9) Az
AL TaTR—5— 52 | 42 B . |RH000.1[|F=0 22.10.09 39 T ARR#2
IvE FeNRKAZ RA0.000 | F wE
= 53.0 .095 240000 | Fm 7 1158 3% TA
8 (13| n2| FATLTYSVT B | EEIE 0000 | FX 430 #) SHE 50 QB
(F4—=TTUS5>7F) FE 136 FEA0.0.0.0 [ F+0.00.0 | 1400m 4 7 1:28.0 40.4
929" F4U5 (BT R ET) [%]1] 0.0.0.1 20001 [ -oeeen MMM 34.8-37.8 431 (8)
() REFHIS 05020580 | £ 0.0.0.0 | s 130702 (2. 9) ko
ZELN—T T2 375]\@5E B uﬁgo. 0.0.0 | F= Zﬁiz'ng'*zf 24 W58 %%) 30 40 M ARR 9
o = B A 0000 | F |
REWGURT 1 54.0 .076 240000 | Fm 15 1638 2&I0OAN /M |7 135 2&NA W
8(14 F—ro R B | BORBIRE INE0.0.0.0 | Frxo0. 438 -4 )llsEiE 51 @@ | 442 #) EHHK 54 @D
(YoRY Y RTR) Z® .01 FA0.0.00 [ FH0.0.0.0 | 1200m ¥B B 1:11.5 36.0 [ 1200m FA B 1:12.0 36.2
BB 18 OV [%]] 0.00.2 [ %0001 |£40000 | -®---@-|MM 34.0-34.8 312 (13) | SSM 35.8-34.9 542 (11)
AFEH 04020580 | £ 0.0.0.2 | 28 000 0| y247I-h(2.7) sz | 9 4153(1.3) BESE
B 5 — I 1200mAB 4 B AAR ($ETHIRT : 2020. 12.15~2022. 12. 14) ERTE BER 3 HE MR
B iEHEE WEES 1% 2% 3% Eo BE EnE * (& 1 23 456 18
1 AZ—Ea—X 101 9 12 11 69 0.089 0.208 F (3%ME) 17 21 17 21 18 21 17 21
2 FUiaH/EeF 82 9 8 11 54 0.110 0.200 0 _______
3 SyX—TAN 46 8 3 3 & 0.174 0.239 7 0000DH® FESV T/ 2L RAIE
4 KL+ 32 7 3 319 0.219 0.313 i BOoE: 2B.TM HIFFEAT (534, 544) 6 soprrx
5 AL IATv— 76 6 6 5 59 0.079 0.158 @2 & *; 1.9 M ’éé%ﬁ E434‘445§ 2 %
6 /4D 45 6 4 5 30 0.133 0.222 q, @0® o #: 375M F<Y  (255,355) 1 %
T F4RHU—kFry bk 49 6 4 4 35 0.122 0.204 = ® BA L 10131 SBUVGAR (335, 245) 1 *
8 HYRY4ISR 79 6 4 2 67 0.076 o127 ___ZT___
9 E—UR 35 5 4 2 2 0.143 0.257 ®
10 o—Fh+a7 82 4 6 7 65 0.049 0.122 5 0]

] FeEMTin, SAORENL, HERYE. BTEELE, TATERERTOLBREBALTFAL,
20224 12A178 () 6EIBR#EB 1R H5R2E% REF 4L s 120m 51—k - FH AEHSOMY, BHMERCET,



